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¥y = NOT (XOR (x,7))
x = XOR (x,7)

7?1('
||

register

| |

[xOrOyl x1rOyO]
[x_O,'r_l,y_ = ,r_l,y_]
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¥y = NOT (XOR (x,7))
Tnew =  XOR (x,7)

MODULE main
4 VAR
X: boolean;

XOR

r: boolean;

regzster
[x—O'r Oy—l x—l'r 0,y= O]
[x_O'rfI,y x_1771,y 1]
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¥y = NOT (XOR (x,7))
Tnewr =  XOR (x,7)

MODULE main
VAR
X: boolean;

r: boolean;

register

L L ASSIGN

[xO'rOyl x170y0]

::><:: < ) init(r) := FALSE;

[x 0,r= Iy = ik = 1]




¥y = NOT (XOR (x,7))
Tnewr =  XOR (x,7)

MODULE main
VAR
X: boolean;

r: boolean;

register

L L ASSIGN

= Oy 1 x 57— O
[ >< < ) ) init(r) := FALSE;
next(r) := x xor r;

[x 0,r= Iy = ik = 1]




¥y = NOT (XOR (x,7))
Tnewr =  XOR (x,7)

MODULE main
VAR
X: boolean;

r: boolean;

register DEFINE
y = !(x xor r);
! . ASSIGN
[x @Ay = 1 x iy = O]

init(r) := FALSE

::><i: < ) next (r) §= X xor;r;

[x 0,r= Iy = ik = 1]
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MODULE main

VAR
inl: Dboolean;

in2: ©boolean;
DEFINE

—— ZERO DELAY

out := !(inl & in2);
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MODULE main

VAR

inl: Dboolean;

0 0 in2: Dboolean;
0 1 DEFINE
- ! —— ZERO DELAY
out := !(inl & in2);
1 1
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MODULE main

VAR
inl: Dboolean;

in2: Dboolean;

0 0
0 1 |e— DEFINE
1 1 —— ZERO DELAY
out := !(inl & in2);
1 1
0 1 |e—
1
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MODULE main

VAR
inl: ©boolean;
in2: boolean;

out: boolean;

ASSIGN
—— UNIT DELAY
init(out) := TRUE;
next(out) := !'(inl & in2);
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MODULE main
R VAR
0 0 |e— inl: ©boolean;
0
— in2: boolean;
out: boolean;

0 0 /
1 1 ASSIGN
0 1

—— UNIT DELAY
- init(out) := TRUE;
0 next(out) := !'(inl & in2);
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MODULE main

VAR
inl: ©boolean;
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out: boolean;

ASSIGN
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MODULE main

VAR
inputl: boolean;
input2: boolean;

q: mnand2(inputl, input2);

MODULE nand2(inl, in2)
VAR
out: boolean;
ASSIGN
—— UNIT DELAY
TRUE;
I(inl & in2);

init (out)

next (out)
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X1

)1
)2

XOR

MODULE main
VAR
x1: boolean; x2:boolean;
yl: Dboolean; y2:boolean;
ql: nand2(xl, x2);
q2: nand2(yl, y2);
DEFINE
—— ZERO DELAY
fout := gl.out xor g2.out;

MODULE nand2(inl, in2)
VAR
out: boolean;
ASSIGN
—— UNIT DELAY
TRUE;
I(inl & in2);

init (out)

next (out)
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MODULE main
VAR
x: boolean;
y: Dboolean;
gql: nand2(x, g2.out);
g2: nand2(ql.out, y);
DEFINE
XOR — —— ZERO DELAY
fout := gl.out xor g2.out;

MODULE nand2(inl, in2)
VAR
out: boolean
ASSIGN
—— UNIT DELAY
init(out) := TRUE;
next(out) := !'(inl & in2);
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MODULE counter_cell(carry_in)
VAR
value:boolean;
ASSIGN
init(value) :=FALSE;
next(value) := value xor carry_in;
DEFINE

carry_out := carry_in & value;

MODULE main

VAR
bitO:counter_cell (TRUE);
bitl:counter_cell(bitO.carry_out);

bit2:counter_cell(bitl.carry_out);
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bit2 bitl bit0
0 0 1 — carry_in
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n n n— carry_in
1 oo o [~ "

carry_out

13/14



bit2 bitl bit0

0 0 { — carry_in

value

0 @ ’ @ g @_ carry_out

0 1 1
o [o]jol[o]|1

0 0 1
¢ @ ¢ 2 @ Synchronous composition
2 @ L : All assignments to all MODULES occur simultaneously
0 0 @ ¢ @ (more about this later)
o) [1] o]

0 0 1
o/ [1]o [1]o [o]

1 1 1

13/14



14/14



